C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 39+9= 2) 589+4 =
- 1.
2
3
3 123+4= 4 792+6 = 4
5.
6.
7.
5 31+5= 6) 47-5=
8.
0.
10.
7) 64+2 = 8) 520+5=
- 11.
12.
9 60:2= 100 70+2 =
11) 51+9= 12) 80+2=
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Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 39:9= 413

3 123+4= 30r3

5 31:5= 611

) 64+2= 32

9 60+2= 30
11) 51:9= 516

2)

4)

6)

8)

10)

12)

589+4= 147r1
792:6= 132
47+5= 9r2
520:5= 104
70:2= 35
80:2= 40

Answers

1 4r3
2. 147711
3, 30r3
a4 132
5. 6rl
6. 9r2
7. 32

8. 104
9 30
10, 35
11, 516
12 40
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